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QUESTION 1

Which three statements describe how the strict SQL mode provides added security? 

A. It rejects statements that try to insert out-of-range values 

B. It rejects invalid dates. 

C. It limits the operations that the server can perform. 

D. It rejects queries that produce out-of-range values. 

E. It rejects dates with zero day or month values. 

Correct Answer: CDE 

 

QUESTION 2

While reviewing the MySQL error log, you see occasions where MySQL has exceeded the number of file handles
allowed to it by the operating system. 

Which method will reduce the number of file handles in use? 

A. Disconnecting idle localhost client sessions 

B. Implementing storage engine data compression options 

C. Relocating your data and log files to separate storage devices 

D. Activating the MySQL Enterprise thread pool plugin 

Correct Answer: A 

 

QUESTION 3

You have been notified that the `apps\\' . `reports\\' table has been accidentally truncated. 

You have single file mysqldump backup available taken prior to the truncate. The backup contains all the tables from the
instance, and the `apps\\' . `reports\\' table must be restored without affecting the other remaining databases and tables. 

Which restore option is suitable in this scenario? 

A. Restore the backup to another databases instance and obtain a copy of the reports table individually. 

B. Extract the `apps\\' . `reports\\' table from the backup using the SOURCE command. 

C. Execute LOAD DATA INFILE `backup.sql\\' SCHEMA=\\'apps\\' TABLE= `reports\\' 

D. Execute mysqldump on the backup,sql file and apply filter arguments to obtain only the `apps\\' . `reportys\\' table. 

Correct Answer: B 
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QUESTION 4

What is true regarding InnoDB locking? 

A. InnoDB row locks may be escalated to page or table-level locks. 

B. InnoDB only uses row locks, not page or table-level locks, 

C. InnoDB uses row and table-level locks, but row locks are not escalates, 

D. InnoDB locks only those rows that are updated. 

E. InnoDB uses row-level or table-level locks depending on the number of rows affected. 

Correct Answer: E 

 

QUESTION 5

Which three are properties of the MyISAM storage engine? 

A. Transaction support 

B. FULLTEXT indexing for text matching 

C. Table and page level locking support 

D. Foreign key support 

E. Geospatial indexing 

F. HASH index support 

G. Table level locking only 

Correct Answer: BEG 
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